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General Instructions:

There are 34 questions in the question paper.

All questions are compulsory

Question nos. 1 to 20 carrying 1 mark each.

Question nos. 21-24 are short answer type—| questions

carrying 3 marks each.

Question nos. 25-30 are short answer type—Il questions carrying 4
marks each.

Questionnos.31-34 are long answer type questions carrying 6 marks each.
There is no overall choice. However, an internal choice has been
provided in 2 questions of three marks, 2 questions of four marks
and 2 questions of six marks.
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Grouping the activities on the basis of the product line is a part of _
a) Formal organisation
b) Divisional structure
c¢) Informal organisation
d) Functional Structure
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‘Pradhan Mantri Rojgar Yojana’ started by the government of India is a part of
a) Economic Environment
b) Political Environment.
c) Social Environment
d) Technological Environment
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‘KAMAL INDIA Ltd.’, is engaged in manufacturing of Mobile Phones.The target of
the organisation is to manufacture 5000 Mobile Phones a day.There is an
occupational specialisation in the organisation which promotes efficiency of
employees.There is no duplication of efforts in such type of organisation structure.
Identify the type of organisation structure described above.

(a)Divisional Organisation

(b)Functional Organisation

(c)Informal Organisation

(d)All of the above
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Identify the dimensions of the business environment illustrated by the picture given
above.

a. Legal

b. Technological

¢. Economic

d. Social
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Rohan joined a marketing firm as a Sales manager. On his first day in the company, during




the orientation programme, the CEO of the company told Rohani that A petrol pump must
be regulated as much as a school or a hospital. What managers do in India, Japan,
Germany, or the USA is identical. . Which characteristic of management was the CEO
referring to?

a. Management is a continuous process

b. Management is all pervasive

c. Management is multidimensional

d. Management is goal oriented
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On 8th November 2016, with the announcement from the Government of India, all the
%500 and 1,000 banknotes of the Mahatma Gandhi series have ceased to be legal tender.
The government also announced the issuance of new X500 and 2,000 banknotes in
exchange for the demonetised banknotes. Identify the concept being described in the
above lines.

(a) Globalisation
(b) Liberalisation
(c) Demonetisation

(d) Privatisation
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According to the World Health Organisation, 39% of adults are overweight. Over the last
40 years, the prevalence of obesity has tripled around the world. With over half of
consumers drinking at least one sugary drink on a given day, regulations towards the
beverage sector are likely to become increasingly onerous. In the U.K., for example, a
sugar tax was introduced in 2018 on beverages containing more than 5% sugar. ldentify
the related dimensions of the business environment.

(a) Legal dimension and Social dimension
(b) Social dimension and Technological dimension
(c) Technological dimension and Legal dimension

(d) Political dimension and Technological dimension
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A manager obtains the required capital at 8 % interest while the prevailing rate of interest
in the market is 9 %. How would you describe such a manager?

a. Efficient

b. Effective

c. Efficient and Effective both

d. None of the above
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While scrutinizing the production records it is found that in a particular Batch, the
rejection rate was 15% against the standard of 10 %. The management found out that this
was due to negligence of quality control staff. This action is part of which step in the
controlling process.

a.Measurement of actual performance

b.comparing actual performance with standards

c.analysing deviations

d.taking corrective action




10.

0 1 e S A pRl & SU A SIS g Hife

(T) T Hid™ &I HRATE A Heifere 81

(o) Te el Tidfafed! & ure-Aldn &1 TRE §

() forae &1 udt T & o, SueT I539 Hiaw & UeRH # YR 15
(D1 IWRYerd JHI

Controlling is known as a backward-looking function because
(a) It relates to a future course of action.

(b) It is like a post-mortem of the past activities

(c) To find out deviation, it aims at improving future performance.
(d) All of the above
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Which of the following is not a feature of the informal organisation?
(a) It originates from within the formal organisation

(b) The standards of behaviour evolve from group norms

(c) Scalar chain of command is not followed

(d) It is deliberately created by the management
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Statement-| Standardisation refers to the production of goods that meet predetermined
specifications, which aids in the production of uniformity and consistency (e.g., ISI Mark).

Statement-Il Packaging is said to be the process of categorizing different products into
different groups based on important characteristics such as quality, size, and so on.
Choose the correct option from the options given below:

a. Statement | is true and Il is false

b. Statement Il is true and | is false

c. Both the statements are true

d. Both the statements are false
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(a) (i), (iii), (i)
(b) (i), (iii), (ii)
(c) (iii), (i), (i)
(d) (i), (ii), (iii)

Match the various terms of Financial Markets Column - | with their respective Statements
in Column-II

Column -1 Column -1l
a Capital Market i | Instruments are generally much safer with a minimum ris
default.
b Money Market li | Only new securities are traded.
Primary Market lii | Instruments are riskier both with respect to return and
repayment.

(a) (ii), (iii), (i)
(b) (i), (i), (i)
(c) (i), (i), (i)
(d) (i), (i), (i)
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Stock exchanges provide an opportunity for investors to disinvest and invest. Identify the
related function of the stock exchange.

(a) Providing scope for speculation
(b) Providing liquidity and marketability to existing securities
(c) Pricing of security

(d) Spreading of the equity cult
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Karam Limited is offering a travel package for 15 destinations worldwide with free
insurance on the bookings for the month of December 2019. Identify the feature of
marketing being described in the above lines.

(a) Needs and wants
(b) Creating a market offering
(c) Customer value

(d) Exchange mechanism
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Stock Exchange works as a mechanism for the valuation of securities through the forces of
demand and supply. Identify the related function performed by the stock exchanges.

(a) Providing liquidity and marketability to existing securities
(b) Safety of transaction
(c) Pricing of security

(d) Spreading of the equity cult
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Packaging is important not only for protection of the product but also serves as
m\; product

(b) Complex graphics

(c) Promotional tool
(d) Promotion budget
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concept is based on those companies who believe in this philosophy that
quality of goods or services of good standard can easily attract customers.
(a) Marketing concept
(b) Production concept
(c) Product concept
(d) Selling concept
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(b) Yb-XcX
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For heavy equipment, which of the following channels is more relevant?

(i) Zero-level
(i) One-level
(iii) Two-level
(iv) Three-level
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Arrange the steps involved in trading procedure at the stock exchange in reverse sequence
(last to first) :
i) Settlement of order
ii) Opening of Demat Account
iii) Placing of order
iv) Execution of order
a) (ii) ; (iv);(iii); (i)
b) (ii) ;(i) ;(iii); (ii)
c) (iii); (ii); (ii); (i)
d) (i);(iv); (iii); (i)
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Rishitosh Mukerjee has recently joined AMV Ltd, a company manufacturing refrigerators.
He found that his department was under-staffed and other departments were not

cooperating with his deparment for smooth functioning of the organisation. Therefore, he




ensured that his department has the required number of employees and its cooperation
with other deparments is improved.

1. ldenfity the level at which Rishitosh Mukerjee was working.
2. Also, state two more functions required to be performed by Rishitosh Mukerjee at
this level.
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Aakansha, Nikita and Parishma are the owners of a handicraft unit in the urban area of
Dibrugarh in Assam, which is involved in the manufacturing and marketing of Sital Pati,
traditional mats and Jappi (the traditional headgear). They decided to shift this
manufacturing unit to a rural area with an objective of reducing the cost and providing
job opportunities to the locals.
They followed the functional structure in this organisation with a view to increasing
managerial and operational efficiency.
They assessed and analysed the type and number of employees required, keeping in
mind that they had to encourage the women and the people with special needs
belonging to the rural area.
State the next three steps that they will have to undertake for obtaining a satisfied
workforce for their handicraft unit.
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‘An effort to control everything may end up in controlling nothing’. Explain.
OR
Explain first three steps involved in the process of control.
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What are the functions of a financial market?
OR




“Money Market is essentially a market for short-term funds.” Discuss.
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No organisation can be successful unless it fills and keeps the various positions filled
with the right kind of people for the right job. Explain.
OR
What are the advantages of training to the organisation?
26. | TOR & foru Rifes srumg s &2
[
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What are the semantic barriers to communication?
OR
Explain the process of motivation.
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‘Classic Rocks’ is a pioneering advertisement making company. Mr. Anuj is a dynamic
manager who has recently joined the organisation. He receives complete support from the
management. There is proper infrastructure, planning mechanism and subordinate
support. He gives orders and starts the actual working of a new unit from the 1st of May.
His schedule becomes very hectic. The demanding work involves him almost throughout
the day. He is busy giving messages, talking to his subordinates or seniors, etc. throughout
the day. One day he meets his friend Vijay who is working at the lower level management
though he himself is a part of middle level management. He finds that even Vijay is
involved in communicating and supervising his employees throughout the year though he
works at the lower level management. Similar is the case with his seniors working at the
higher level management. He feels relaxed after knowing this and continues his work with




even more dedication.

1. Which function of management is highlighted in the above case?
2. ldentify the features of this function of management highlighted in the above case.
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“Capital structure decision is essentially optimisation of risk-return relationship.”
Comment.
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“A capital budgeting decision is capable of changing the financial fortunes of a
business.” Do you agree? Why or why not?
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Reena purchased one litre of pure desi ghee from a shopkeeper. After using it, she had
doubts that it was adulterated. She sent it for a laboratory test which confirmed that the
ghee was adulterated. State any six reliefs available to Reena if she complains and the
consumer court is satisfied about the genuineness of the complaint.
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Briefly explain work study techniques that help in developing standards to be followed
throughout the organization.
OR
Name and explain that principle of Fayol which suggests that communication from top
to bottom should follow the official lines of command.
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Enumerate six points of importance of planning.

OR

Is planning actually worth the huge costs involved? Explain.
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Rajesh works in a software company. This company is growing by leaps and bounds. The
employees are happy as they get timely salaries, their basic incentive, ey are also
supported by regular increments in their salaries every year. The HR department these
days is busy calculating the various expenditures the company will have to incur in paying
the employees. The company however has decided to increase the fringe benefits like car
allowance, foreign trips, etc. With this step the company will enter into the list of few
chosen companies to do so. For the elderly members of the organisation the company has
decided to include gratuity in the list of benefits along with already given benefits like
pension and provident fund. However there are a few more steps taken by the company in
the direction of providing financial incentives which can be considered truly unique. It is
about providing company’s shares at price lower than the market price. All these steps
have lifted the morale of the employees.

Which financial incentives have been highlighted in the above case?
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‘Haryaram’ is a famous chain selling a large variety of products in the Indian market. Their
products include chips, biscuits, sweets and squashes. It charges a comparatively higher
price than its competitors as it sells quality products. Besides, it offers regular discounts to
its customers and easy credit terms to its retailers. It has five of its own retail shops. It also
sells its products through various grocery stores so that the products are made available to
customers at the right place, in the right quantity and at the right time. It regularly uses
different communication tools to increase its sales.

The above paragraph describes the combination of variables used by Haryaram to prepare
its market offering. Identify and explain the variables.




